6.4

1) 7x?—48x + 36
7x% — 6x — 42x + 36 25
x(7x —6) —6(7x — 6)
(7x — 6)(x — 6)

A
)

3) 7b?>+15b+2
7b% +b + 14b + 2 14
b(7b+1) +2(7b + 1)
7b+1D)(b+2)

5) 5a%?—13a — 28
5a2 +7a—20a —28 ¢
a(5a+7)—4(5a+7)
(Ga+7)(a—-4)

7) 2x?>—5x+2

2x% —4x —x + 2 4
2x(x —2)—1(x —2) 5 2
(x—2)2x—1)

9) 2x?+19x + 35
2x2 + 14x + 5x + 35 170 f
2x(x+7)+5(x+7)
(x+7)2x+5)

11) 2b2—-b -3
2b%2+2b—-3b-3
2b(b+1)—-3(b+1)
(b+1)(2b—3)

13) 5k? + 13k + 6
5k?+ 10k +3k +6 30
S5k(k +2) +3(k+2)
(k +2)(5k + 3)

><><

15) 3x%2 —17x + 20
3x%2 —12x — 5x + 20
3x(x —4) —5(x —4) * 5
(x—4)(3x—5)

S

17) 3x% + 17xy + 10y? 30
3x2 + 15xy + 2xy + 10y2 ><
3x(x + 5y) + 2y(x + 5y) Y
(x + 5y)(3x + 2y)

19) 5x2 + 28xy — 49y?
5x2 + 35xy — 7xy — 49y?

S5x(x +7y) — 7y(x + 7y)
(x +7y)(5x — 7y)

21) 6x%2 —39x — 21
3(2x2 —13x—7)
32x2 —14x+x—7) ><
32x(x—=7)+1(x = 7))
3x—=7)(2x+ 1)

23) 21k% — 87k — 90
3(7k? — 29k — 30)
3(7k? + 6k — 35k — 30)
3(k(7k + 6) —5(7k + 6))
3(7k + 6)(k —5)

25) 14x2 — 60x + 16
2(7x2 — 30x + 8) %
2(7x% — 2x — 28x + 8) -30
2(x(7x — 2) — 4(7x — 2))
2(7x —2)(x — 4)

27) 6x2 4+ 29x + 20

6x% + 5x + 24x + 20
x(6x +5) + 4(6x + 5)
(6x+5)(x+4)
29) 4k? — 17k + 4
4k? — 16k — k + 4 ><
4k(k —4) —1(k — 4)
(k—4)(4k—-1)
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31) 4x2 + 9xy + 2y?

37) 12x% + 62xy + 70y? TN
4x% + 8xy + xy + 2y? >< 2(6x? + 31xy + 35y2)
4x(x + 2y) +y(x + 2y) /9 2(6x% + 21xy + 10xy + 35y2)
(x+2y)(4+y) 2(3x(2x + 7y) + 5y(2x + 7y))
2(2x + 7y)(3x + 5y)
33) 4m? — 9mn — 9n?
4m? — 12mn + 3m3egn’® 39) 24x2 — 52xy + 8y >
4m(m — 3n) + 3n(54n) 4(6x% — 13xy + 2y?) /13
(m —3n)(4m + 3n) 4(6x% — 12xy — xy + 2y?)
4(6x(x — 2y) — y(x — 2y))
35) 4x?% + 13xy + 3y? 4(x — 2y)(6x — y)
4x% + 12xy + xy + 3y2><
4x(x+3y) +y(x +3y) 13

(x+3y)(4x +y)



